
√ÂøÏ ÍÃΔ«÷¡≈ B@A@, «ÚÙ≈-«Ú«◊¡≈È, ‹Ó≈Â-ÈΩÚΔ∫
(¡ÍÃÀÒ ÂØ∫ ¡◊√Â)

√Óª: C ÿ≥‡∂ ’∞ºÒ ¡≥’: F@
˜»Δ ÈØ‡: √≈∂ ÍÃÙÈ ˜»Δ ‘ÈÕ ÒØÛ ÓπÂ≈«Ï’ Ò∂ÏÒ ’ΔÂ∂ «⁄ºÂ ÚΔ Ï‰≈¿∞Õ

(Ì≈◊-¿)
ÍÃ.A ’øÍÈ ◊ÂΔ ÂØ∫ ’Δ Ì≈Ú ‘À?

ÍÃ.B ‹ÛÂ≈ ’Δ ‘À?

ÍÃ.C ÚÀ’‡ ≈ÙΔ ’Δ ˛?

ÍÃ.D ’≈Í ¡Â∂ ÍØ‡≈ÙΔ¡Ó Á≈ √≈«¬«‰’ √ø’∂Â «Ò÷∂Õ

ÍÃ.E ÈΔ¡≈È Á∂ ÍÓ≈‰± ÙÀμÒª «Úº⁄ «¬ÒÀ’‡≈æÈΔ ÂÂΔÏ Áº√ØÕ

ÍÃ.F ‹Òæ¬Δ ÿØÒ ’Δ ˛?

ÍÃ.G √Ì ÂØ∫ Úº‚∂ √ÀμÒ Á≈ Èª Áº√ØÕ

ÍÃ.H ◊πøfiÒÁ≈ √Ê≈¬Δ «‡Ù» ÁΔ¡ª ÁØ «’√Óª Á∂ Èª Áº√ØÕ

ÍÃ.I ˙‹ØÈ ÍÂ ÁΔ Ó‘ºÂÂ≈ Áº√ØÕ

ÍÃ.A@ √ßÂπ«ÒÂ ÌØ‹È ÂØ∫ ’Δ Ì≈Ú ˛? (A@×A=A@)

(Ì≈◊-¡)
ÍÃ.AA ‘∂· «Ò÷∂ ’ÊÈª «Úº⁄Ø∫ «’‘Û≈ Ú∂◊ È≈Ò ¡Â∂ «’‘Û≈ ⁄≈Ò È≈Ò Ó∂Ò ÷ªÁ≈ ‘À:

¿)    Á»Δ È±ø Â«‘ ’È ÁΔ Á ¡)    «Ú√Ê≈ÍÈ È±ø Â«‘ ’È ÁΔ Á

ÍÃ.AB Íæ÷∂ Á≈ √«Ú⁄ ÏßÁ ’È ÂØ∫ Ï≈¡Á ÚΔ ’πfi √Ó∂∫ Âæ’ Íæ÷≈ «’¿π∫ ÿπßÓÁ≈ «‘ßÁ≈ ˛?

ÍÃ.AC «¬æ’ ¡‰ÍæËΔ √Û’ ¿πμÂ∂ C@ km/h Á∂ «¬’√Ó≈È Ú∂◊ È≈Ò ⁄Ò ‘Δ ’≈ ¿πμÂ∂ «’«¡≈ ’ ‘∂ ÏÒ ÁΔ

Ó≈Â≈ «◊¡≈Â ’ØÕ

ÍÃ.AD ÂºÂ ¡Â∂ ÔØ«◊’ ÁΔ¡ª ÁΩ-ÁØ ¿∞Á≈‘‰ª «Á¿∞Õ

ÍÃ.AE ‘∂· «ÁºÂ∂ Á∂ ÁØ ¿πÍÔØ◊ «Ò÷Ø:

i) X-«’Èª

ÍÃ.AF ‹ΔÚÈ Á∂ Úæ÷Ø-Úæ÷ ÷∂Âª «Úæ⁄ ∂«‚˙¡À’«‡Ú ¡≈¬Δ√Ø‡ØÍª Á∂ ¿πÍÔØ◊ «Ò÷ØÕ

ÍÃ.AG  ¿∞√ √ÀμÒ È±ø ’Δ ‘ØÚ∂◊≈, ‹∂’ ¿∞√Á≈ ’∂∫Á’ ’º„ «ÁºÂ≈ ‹≈Ú∂Õ

ÍÃ.AH  «¬º’ «È¿∞≈È Á≈ Ò∂ÏÒ ’ΔÂ≈ «⁄ºÂ Ï‰≈¿∞Õ

ÍÃ.AI ÁØ È≈ÚΔ∫ Èª ÍºËÂΔ ’Δ ‘À? «¬º’ ¿∞Á≈‘‰ È≈Ò Á√≈¿∞Õ

ÍÃ.B@  ÍÃÁ»Ù‰ È±ø ’≈Ï» ’È Á∂ ÁØ ÂΔ’∂ Áº√ØÕ (A@×B=B@)

(Ì≈◊-¬)
ÍÃ.BA ‹ÁØ∫ ÏøÁ»’ «Úº⁄Ø∫ ◊ØÒΔ Á≈◊Δ ‹ªÁΔ ‘À Âª ÏøÁ»’ «Íº¤∂ ÚºÒ È±ø Ëº’≈ Ó≈ÁΔ ‘À, «Ú¡≈«÷¡≈ ’Ø, «’¿π∫?

ÍÃ.BB «È¿π‡È Á∂ Á±‹∂ ◊ÂΔ «ÈÔÓ ÁΔ ’Δ Ó‘æÂÂ≈ ˛?

ÍÃ.BC ÍÃÔØ◊ Áπ¡≈≈ «√ºË ’Ø «’ ’ØÒ≈«¬‚ «‡ø‚Ò ÍÃÌ≈Ú Á√≈¿∞∫Á∂ ‘È?

ÍÃ.BD ÍΩÁ≈ ‹◊Â Á∂ «ÂøÈ «ÚÙ∂Ù Òº¤‰ «Ò÷ØÕ

ÍÃ.BE ÌØ‹È «Úæ⁄ «ÓÒ≈Ú‡ ÂØ∫ ’Δ Ì≈Ú ˛? ’πfi ¿πÁ≈‘‰ª «Á¿πÕ (5×3=15)
(Ì≈◊-√)

ÍÃ.BF «¬√ ’ÊÈ ÁΔ «Ú¡≈«÷¡≈ ’Ø, ““«È¿±‡È Á∂ ÂΔ‹∂ ◊ÂΔ «ÈÔÓ «Úº⁄ «’«¡≈ ¡Â∂ ÍÃ«Â«’«¡≈ «¬º’ ‘Δ

Ú√Â± ¿∞μÂ∂ «’«¡≈ È‘Δ∫ ’ √’Á∂Õ””

‹ª

«¬æ’ Ïæ⁄∂ ˘ √Û’ Í≈ ’«Á¡ª Ú∂÷Á∂ ‘Ø¬∂ ’≈ Á≈ ‚≈¬ΔÚ ¡⁄≈È’ Ï∂z’ Ò◊≈¿π∫Á≈ ˛ ¡Â∂ ’≈ D

√«’ß‡ª «Ú⁄ π’ ‹ªÁΔ ˛ ¡Â∂ ¿π√ «Ú⁄ 10m/sec2
 Á≈ ÓßÁÈ ÍÀÁ≈ ‘πßÁ≈ ˛Õ ’≈ Áπ¡≈≈ D √«’ß‡ª «Ú⁄ ÂÀ¡

’ΔÂΔ Á±Δ ÍÂ≈ ’ØÕ

ÍÃ.BG          ¡Â∂           «Úº⁄ ÍÃØ‡≈Èª, «¬ÒÀ’‡z≈Èª ¡Â∂ «È¿±‡≈Èª ÁΔ √ø«÷¡≈ ÍÂ≈ ’ØÕ «¬‘Èª Á≈ ¡≈ÍØ «Úº⁄

’Δ √ÏøË ‘À? ‹ª

  - ’‰ª,  

 

 - ’‰ª ¡Â∂ 

 

 - «’Èª Á≈ ¡≈ÍØ «Úæ⁄ ‡≈’≈ ’ØÕ

ÍÃ.BH √≈ÚΔ∫ √»ÂΔ «ÚÌ≈‹È ¡Â∂ ¡Ë-√»ÂΔ «ÚÌ≈‹È  «Úº⁄ Í≥‹ ¡≥Â √ÍÙ‡ ’ØÕ

‹ª

√ø÷∂Í ÈØ‡ «Ò÷ØÕ

i)   Ë≈Δ «‘Â Í∂ÙΔ ii)   Ë≈ΔÁ≈ Í∂ÙΔ iii)  «ÁÒ Í∂ÙΔ (C×E=AE)
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September - 2010, Class IX, Sub : Science
(April to August)

Time : 3 Hrs. M.M.: 60
All questions are compulsory. Draw labelled diagrams wherever necessary.

(Section - A)
Q.1 What do you mean by vibratory motion?
Q.2 What is Inertia?
Q.3 What are vector quantities?
Q.4 Write symbols of Copper and Potassium.
Q.5 Give distribution of electrons in different shells of Neon.
Q.6 What do you mean by Aqueous Solution?
Q.7 Name the largest cell.
Q.8 Name two types of complex permanent tissues.
Q.9 Write the importance of Ozone layer.
Q.10 What is balanced diet? (10×1=10)

(Section-B)
Q.11 Match the following statements with the terms velocity & speed.

a)   Rate of covering the distance b)   Rate of covering the  displacement.
Q.12 Why does an electric fan continue rotating for sometime after the current is switched off?
Q.13 Give the magnitude of net force acting on a car moving with constant velocity of 30 km/h on a

rough road.
Q.14 Give two examples of elements and compound.
Q.15 Give two uses of the following:

i)   X-rays
Q.16 List the application of radioisotopes in various fields of life.
Q.17 What will happen to a cell, if its nucleus is removed?
Q.18 Draw a well-labelled diagram of nerve-cell.
Q.19 What is binomial nomenclature? Illustrate with one example.
Q.20 Mention two ways by which we can control pollution. (10×2=20)

(Section-C)
Q.21 When bullet is fired from a gun, the gun gives a kick in the backward direction. Explain why?
Q.22 What is the importance of Newton’s second law of motion?
Q.23 Give an experiment to show that colloids show Tyndall effect.
Q.24 Write three characteristic features of plant kingdom.
Q.25 What is meant by food adulteration? Give some examples. (5×3=15)

(Section - D)
Q.26 Comment on the statement “The force of action and reaction in Newton’s third law of motion

cannot act on the same body”.
OR

A car driver, on seeing a child crossing the road, suddenly applies brakes, so as to stop the car in
4 seconds under a retardation of 10m/sec.2. Calculate the distance covered by the car is 4 seconds?

27. Give number of protons, electrons and neutrons in           and           . What is the relationship?
OR

Compare characteristics of  - particles, - particles and - rays.

28. Give five differences between mitosis and meiosis.
OR

Write short notes on :
i)    Smooth mucles ii)   Striated muscles iii)   Cardiac muscles (5×3=15)
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